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SECTION A

INTRODUCTION TO LANGUAGE" .-

Answer one (1) question from this section.

( . : ing concepts.
| (a) Provide brief linguistic explanations for each of theffr(r)ll:g;v?fnzania:s today.
(i) Kiswahili is becoming the mother tongue ot :
e (i) Language can enable us to talk of things which are remote at the time of speey

unity.
(i) Pidgin is not the mother tongue of any-language Com”;) oltzin Tanzania
(iv)  English is not effectively spoken in most secondary scho 0 date,

(v)  Language is symbolic in nature. -
(b) What are barriers to the learning of a second language?

2. Kiswahili and Eng] ish languages are both used as a medium of instruc'tlon in ed‘}cation. Wh;
one do you think should be used in primary and secondary schools in Tanzania today? ¢;

“reasons for yOouy answer. o

SECTION B

- GRAMMAR

" Answer one (1) question from this section. -

3. (a) Write the following séntences according to the instructions given after each. .
(1) They have been building the bridge for several months. (Write in singular form).
() Although he wus suffering from fatigue as a result of the long journey, he woké |
early. (Analvse the clements of structure). ‘ » : -]
(;::ii} b.’!\x-ambul:ai"utu borrowed the magazing from his best friend. (Make it passive). |
{iv}  When pecple rushed to the west in search of gold, they left family and friends behin
(Put brackats in the adverhial clause), ~ : - S R
(v)  As they cut down the trees and dra them across :
meadow above. (Indicate the subjefc%o_f the sentenctg)ef stream, the water backs Sl

~,

~ - . [ .
(b) State the functigns of the dependent clauses in the following sentences. ™ -
(i) Since both land and sea travel were very slow, mail took over'a month to go fror

East to West. I 4 L . - ?
& (i) Thehelmet that a football player wears is 'stroﬁg but lighf
(i) That a well-planned future will be better seems obvious :

(iv) The water circulates as it is heated, " - - . R

(v) Ican tell that you are frightén_ed,anﬁd'astonished,

4 {a) Assign SVOCA analysis to the followin
' (i) ~ You must address the chair.
(31) He has been attending lectures régularlSr.
(iii) He is going to be a doctor when he grows up

g sentences. ’ . "
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: ony Ex ;o , .
) moggh the Pony t‘x;)res_s lasted only eighteen monthy 2ng 10St money, its story was
(iv) , glorious chapter 1n the history of the west. -
| shortpotes On the follow}ng grammatical concepts.
}) WAL erb phrase. o o
() pgributive function of an adjective. | _ _"
' (ii) . - . -
SECTIONC " "
; I ~ LEXIS :

1e

Answer one (1) question from this section.

SEE ST e T T

3

% The student wrote the letter home.
) .

(‘9' put the plate on the table.

<

A
N
{
i

tp escribe the following sentences morpholo giéally.'
) -

Read the following passage and answer the quesfio:hs that follow:

%wcamering and also helps to slow the removal of the weathered layer. In deserts and high

iy untains the absence of vegetation accelerates the rate of weathering. Plants and animals,

: :?"f?owevef’ play a significant part in rock destruction, notably by chemical decomiposition
',;k

A miék vegetation cover, such as tropical forests, acts as a protection against physical

b s
(PR UL b

R
2o LT

Gl . .
3 .??mrough partly decayed vegetation and animal mattgr. S . L

QuestiOnS L . L . B St
rrom the passage identify: C e

ﬁ(n) five (5) derivational morphemes. S
i) two (2) inflectional morphemes. .. .

f‘%Writc ;ICW sentences by changing each of the words in capital§ into a noun.
£ We expect to PRODUCE enough crops this year because there is enough rain, -

y e

" . «

L. »  languages. o . : .
“"f"(v)“ Yoﬁuhagve to DECIDE whether to go for further studies 01: not. ., ..

}N:nme the word form
B rackets. : UEICI
L) Mwakifulefule had 2 (jacketless) b.ook., S
5‘") Mayasa (parties) every Samrday night. - .
(1) Everybody must fight against (AIDS). . -
v Mufungwa has just got a new (car phone). -

) Kagaruki wants tobe 2 (footballer).

3

ation processes involved in the formation of the words in

v
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% jwough the action of organic acidic solutions. The acids develop from water percolation".

seven (7) lexical morphemes. -~ T L e

"(IV) For the language to develop, it MUST -borrow. some. vocabulgries_ frorp ,other-

R Ii) What you DECIDE today wil_l‘aut_'omatticall‘y affect your future. -~~~ I P
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- 9."_(a)JWrite the denotativ

SECTION D
PHONOLOGY
Answer one (1) qu;sti-on from this section.»
(a) Withodt a diagram, explain the mecharﬁ‘sm of ?peech sound production,

o . ‘. ts. ’ . .
(b) Give reasons for each of the following concep ronounce the word “fine”,
() Ttis difficult for a toothless speaker to p e out through oral Cavity 4 .
(i1) It is not possible for the breath to Cgr‘r}mother”. i
production of the initial sound of ]the w:; _ ‘
cee . . . a. .
(11i) Velar plosive is different from velarn r some problems in leam:. .
" (V) - As non native speakers of English we encounte proviems in leaming
(v) S‘qft palate has two movements in common.

8. (a) Briefly explain the factors considered during the articulation of consonant

Phonemes.

(b) How are the 'organs of speech involved in the articulation of initial sounds of
« the following words? S o .

(@) chair () ~ peak : (i) mine

; (lV) time ° . (V) © kin » I (Vl) bike .

' SECTIONE .

SEMANTICS . :
Answer one :(1) qué_'St»i.on from this section.

€ meaning for the following sentences:

1) - Anyone who wil] come late will face the music,

(i) - The informa_tion nowadays is at our fingertips. :
(i) Inow have the world’s news in a nutshell, i o

(iv)  Don’t let the cat out of the bag. .

(V) Christmas appears once in a blye moon. - . \

(b) Show the lexica] relationship for éaph._of the following list of words,
() AWACS, AWOL, ACAS, ACTU, AD, AM.
(ii) Organization-.organize; producti
(iii)  Water-water; walk-walk; stay-s
(1v)  Smog, telecast, brunch, motel.
v) Suitcase, book k

on‘produyce.
tay; €mpty-empty.

eeping, store roon, wholesale.

: .or
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